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(I) Usges Iwed | (UF 98 § 31 §ifS1 Answer in one word only.)
(i) wiforerm-fadfaa-aes= am fay ?
(if) WRTER: HEW Fe g9fed: ?
(i) wfEafea: &M dmaf<?
(lv) FEHOT HEfysrl &: 3w 2
(I1) gufared 3w (g a9 # 30t fS0) Answer in a complete sentence.)
(1) ‘AfEE=! gauE S —3y & sifugm: ?
(i) Fred: e fay sifemaq ?
(ITI) 37 e wyfad vide fomaa ) (30 sig=8T &1 39g+d i fafau) Write an appropriate
title for this passage.)

2. 3¢ fad gw=ar sl 9 wewvsRTET WErEadn ysearantt vead —
(7% fo3 TEat AR weupw | fou wesi =1 wera | uie Al # = #ifEu )

(Describe the picture in ﬁve sentences taking words from the box.)
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(%) Sfeld Sfog-Te ReTRIFYld $od- (3feld 31 g gRT Rdd RIF i Pifeft- Fill in the blanks with the
appropriate indeclinables.)
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